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" fshow aII necessenl steps Clearly, Neatly, and 5ystematlcally to recelverfull credit: Any Incorrect statement wlll be penallzed
1, Solve 7[2 (3+4x)]-2x—;.9+2(1 ~15%). R Eut
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3.” Solve: —(x 2)——-( - 8) > —-li . Write the solution set In interval notation and graph.
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4. Solve: l3|l4 = 15x| ~16>10. Write the sdlution setin Intefval notation.
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5. Find x-intercept and y-intercept of the equation: —ix “3 y=1.Then graph.
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6. Solve: - %x > =22 or 3x +2 2 —7..Write the solution set in interval notation and set-builder notation,
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7. Solve: a= a

+b+c
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et of the linear inequality: —5x~3y <9.
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~ 12. To start training for a triathlon, an athlete runs 8 times longer than she swims, and cycles 45 miles longer

than she runs. If she covers a overall distance of 70.5 miles, find the length of each part of her workout.
(Make sure to show in 3 steps format) '
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